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Uulpurbphtp
09132200 phtrqhh, nhqntllurp CZ hrnn JIJ 4000 1252.0

09134200 nhqhrurrhL r.hunhrhp CZ thurF 308,8 3000 926.4

0921 1 100 rrundhrh lnr-nhn trCUZ thrnn 1000 I 1.0

0921 1 100/1 riundh>h lnqbI nnrr) thurp 2000 I 2.0

'0921110012 2urndh)h lnr.rlhF trCUZ thurn 2s00 I 2.5

0921 1 I i0 2updhfb 3nu1, llfruruufrLphuf \ trcuz t]t*p 3000 20 60,0

0921 1400 {rnfu ruhgilurtr unr-r}fr 
I 
nq.hp trQUZ tJt*p r700 8.5 t4.45

0921 1630 hu\u\nnnqlrnh Snulhp FCUz hruur zL)u 2 4.5

092 1 1650 upqhpr\|r hh4nt\ trcue hurtn 650 1.95

09331 100 unbrurhh rlruhuhurhtrhn UU huln 70000 T4 980.0

09421700 phruhurh qruq trCUZ tu/il 200 4500 900.0

0941 1400 hhnnr-b runnutuh suq .\AI I 
'rLqA qq 340 238.3 Br,0

421 1000 ull iuq rhhrunruniuh iuh r\rrT T trLUA dtu 6334 t2 76.0

18141 100 u2tuurururhpurlf h d.hn hnchhp NNTT 
' hrutn 300 100 30.0

8s11180 ilhnru r tr hn,h n b puLu urhb hn UU huln )UU 120 60.0

8931220 &hnph uurlnruruh trcuz hruur 7000 20 140.0

t893r220/l &hnpfr ulu3nruur\ trCUZ hr.uu 2650 50 1?? q

19641000 ulnilhpfrlttrulfrtr qrup\,rur1Ftl hullurp UU nnuril 7000 7.0

19642100 ur nr hhBht hhruthh urtt rupunu4pruhp FCUe nnurri 4800 4.8

22211500 ulluurqnhn NNTI'rL_ul. 4nluil 72000 72.0

2281 I 150 Lnnur.nburn Ftu2 hruur r80 30 J.a

228t115011 trnpruurhurn hrur.n 3s0 30 1.05

2431 1550 uhrhhrurnhhn UU hq 1200 5 6.0

2491 1 500 unuhh& trcuz huru 1000 10 10.0



,/- 249513t1 hq\u:uurnhgnlgh) h1nr-php trcuz thurn 2000 15 30.0
249513tt/I hrulluuurnhgnrgfr2 h1ntphp trcu2 hurn 1000 5 5.0
30192100 4!qh! hururupru\ trQUZ huu 80 50 4.0
30192121 qhlh\unlnn qpht FCUZ huu 80 500 40.0

30192121/1 qL+h\rutlnn qptr2 FCU2 hurtn 350 120 4)O
3019212s {up\hphhp FCU2 hurn 300 70 21.0
301 92 1 36 dru urh ur qlur Sh rn h tn h r1ur4p r,lnr1 rlf gnr_\ nr] pcu2 hur.n 200 ) 1.0
30192132 pur gnrgf 2 qlruQbin rlhluru hfr\ur\ur h rlunninnhhpfr

huL[urn
trcu2.

hruu 200 5 1.0

30192737 tluurlrur qpur$hurh rif 2nr\nrl, hruuurprutl trcuz huln 70 150 10.5
30192133 ufrh:trbp FCUz hruu 150 20 3.0
301 92 I 60 Z11tI'hluLhp rL LJ.Z. hrurn 200 15' 3.0
301 922 1 0 u1n$rihpru3]rtr frhphru\ q2nrb

durqLu{hh,qpuubhlur\ tuf htr,rlbb

FCUZ hrur.n
370 20 7.4

30192220 qnft rlbp ru1 frh lrhphru \qlnrh
duulunlhh,qpruuhhl ru! rut hh, ft npn

trQUZ hruur
60 20 1.2

30192230 u\nt' hfr\hnTiruhlr unub&tlurbpnd trcu2 hunn 1350 1 1.35
30192700 qluuhqruhh hun{upubnr trcuz huln 3000 3 9.0
30192710 unuhdunlunnlrur qpruuhtr3 ru! ur1|rh FCUZ hu-rrn 120 t5 1.8

3019271011 unuhd.rudruuhtn qpuruhb3u\rulf tr t-r-_ L Z_ huru 100 16 1.6
30192781 L2uFiudru!frl, pqpt FCU2 hurtn 370 10 3.7
30193700 {nu u r.n ruprlph p }r hru dur p tr ru}u unnhur{ur b uhrlu hfr

{ nru nFlnq +urpru\ru2urp
rLLA4 hrur.n

37r0 2 '7 
^1

30194320 qbur qFru\rutr p..qf, /rl uuniru V trcuz hurr,n 30 20 0,6
30195921 rituqhlruu\urh qpurtnurfu rnru\htpf hurtlurp

trurluururhurlnq 2h2nq rllrgnqtrhp
trCUZ hrutn

500 10 5.0

30i96i00 dnqnrlbhph qfurhrurlnprlurh pp\ hnurhhp .FCU2 hurr.n 550 t20 66.0
30 97230 prtptuqurllu\ trQUZ hurr.n 310 35 10.85
30 97231 pqpuqurhru\, qnflrilbpurt hh prun ruhB, gurrr nrrt T trLu4 hrur.n 10 1500 15.0
30 97232 Iaryau ulruL uh iu luqru ! urp pr1ppu trcu2 huur 20 r00 2.0
30 97233 Ialpurul uhrull, fubL"rl, fdllaj u trcuz hrurn 70 30 )1
30197234 prl puml urhur\ h"Z* \ruq rinll QNTT' huur 800 60 48.0
30 97321 \*ph:,{hltlr 20 phpp}r hunlurp trCUZ hruur 1000 A 4.0
30 97322 !gplr:, 20-50 pbpplr hutlurp trcue hurn 2090 2.09
30 97332 lu\h:, tlhthh t- L LAZ" huru 3800 3.8
30 97340 ruquhrunlUbhp FCUZ hurn 270 3 0.81
30 97631 plun_4rQruleul trCI.I2 r.nnr-rh 1850 110 203.s
30 97639 pn r-Ua hulhLrulf h ( ! iuqdrup Lupru\ u:h) trcuz hrurn 60 200 12.0
30 97646 pnu'Lp A3 $npthuufr trcu2 urnulr s000 I 5.0
30t97653 durqrurlupruianlrlfd A3 &tru>rurlrh trcuz nnluil 153000 1 r53.0
30 99281 bf,*F uu hruur 20 100 2.0
30199420 pnutp LZnullltplr hurilurp, unuh&rlurdpml r\NT T 

'rquz. r.nnuh 170 40 6.8
30192128 qnh: qhLur:|rh trcuz hurn 115 20 2.3
31651 100 ilh\nLulr2 drurqrur] hh, or1 ru! udh trcuz huur _150 25 3.75
31681900 tLh\npu\ru h ru\nufr2(1nh1) Lru hrurn 50000 I 50.0
386s1 190 \ htrhiluru nqpru Sfr Lu \ruL u1 p n3h\ rnnphhp trcu2 hruu 390000 1 390.0
39221420

-pnqrutrur\trhp FCUZ huln 900 2 1.8
39241141 rlurhru\ qpruubhSru\u3frtr, ribu-rruqlu, rlhb FCUZ hurl.n 2s0 10 2.5
3924rt42 +utnu ll qFruuh trl ru\ru1 |rtr, rf huruq l u, rlrnp p trcuz huur 210 10 2.1
39241210 d\Fruu gptu u htL jru\ujfrh trQUZ hiurn s00 4 2.0
39263400 g{fr*\ r.Itunuryur trtuz tnnr-rlr 110 16 r.76
39263500 uhqrlu\ rlnpp trCUZ tnnlr-fr 200 5 1.0
39263s20 qqq,iru\,rhphtt FCU2 nnr$ 310 5 1.55
39292150 qbu qpru\uli qn pbf ptrbp FQUZ unr-{r 3000 I 3.0
39292500 puihnh dhurur4rull url: rL-UA huur 190 20 3.8



39292510 purhnh utruuurhh rL L}2. hrutn 190 20 3.8

39541 1 i0 ruurnurhhtn trCUZ \q 1700 30 51.0

30232110t1 r ruq hnrurhtr r.nur hlhhn NATT 
'rLUA hurl'n 89000 I 89.0

30234630 $thz hhznnnrplnrh, 8GB trcuz hruur 3000 10 30.0

302361 10 oq hpruurfn] hlr2nq nrplurh uurpp (ram) uu hruu 15500 I 15.5
30237112 uhntqr{ulr EtnL uu huru 5500 I 5.5

30237173 u"r p rn u,r pfrb u ru p p h p fr rih u q utu t-r t ur n h n (usb) UU hrur,n 4000 1 4.0

30237240 4lntptu! frn hruriruh unqhl trcu2 hrur.n 121000 1 121.0

3023724A11 ntnr-ntuh hn hunlurh urnqhl UU hrur.n 120000 2 240.0

30237410 hrulhub urnqlurhh rlb trhL hhn trnu2 hurr.n 2000 6.0

30237412 rih bhh,hrurf urL tunqtulrhh,ruhr run uu hunn 6000 I 6.0

30237460 hrurlurL runqluthh uurhn hruturn trCUZ hruur 2000 ? 6.0
31 151 130 ri2urur\uh hnuurhpp {rnr}rn}uru\rutr hnuultrp}r

rhnluulrhnrunn urunp
UU

hu:rn 970000 1 970.0

3r22r200 lunnqhhnh hnuhhhLhn tr rlrunnruLLhn trQUZ nnurtl 30000 I 30.0

3121 1400 urhqulrnhr-qrurnhr trcu2 hrurn 750 18 13.5

3r2rl400tr urbgrurnlry-q rurnfry trcuz hrurn 1 100 t4.3
3121 1 140 urqruhnrlhthhn trcuz hunn 3000 6 18.0

3121rr40tl ullurhnrlhlbhn FCUz hrur.n 5500 5 27.5
3 221280 hp\ rupurcr.iurh t urphn FCUZ hruur 2000 8 16.0

3 321 1 10 cubp h rlhqhb tunrftuh durnLtuhhn FCUZ nnrurl 150000 1 1s0.0
3 41 1000 >d tnurt hqprurl nnrlnn rJurnurL nqhhn Ftuz rlntuil l 360 1 r.36
3 5312r0 \h!rnpu\ruh purlul, 60W, 80W, 100W FCUZ hr.uur 100

3 531230 \ L! rnpuliuh 1 r-utlq, 200W FCUZ hurr.n 200 Aa 0.8
3 531600 qhnhhtirrhb 

r rur.iul 120ur.l trCUZ huln 600 50 30.0
3 531680 runirutnh hnBurnhhn trcu2 hurr,n 400 A 1.6

s2r2t0 turrirq httnLnrl 20 ilur, 110 dil, E27, 220'L trcuz hruu 8s0 t4 r 1.9

3 521500 urnruuuturlf I nturudnntiurh uurnphn trcuz hrur,n 3000 I 3.0
31711400 [h\rnpnhr.ulf tr ]rtnnhqprul u]uhriurtrhp l:

ilhL nnrlnnnr-rhhn
trcu2 lpuril 46650 1 46.65

3235 1 230 nhhurqhh hh runhhnh druu; ull hlitrbn FCUZ urnr-rh 8900 1 8.9
32421300 quLqu rhb rurdr.uLtuntu n FCUE hurr.n s000 2 r0.0
3255r170 urhlup hhnurfunuhhp trcu2 hurur 1s000 2 30.0
33761000 nnrl nhntl, qnrgunrutrh rdnlrt p trcue hurr.n 100 200 20.0

3376t400 BnBb urlrd.hnnqhtrhhn trcuz nnrrh 150 90 13.5

34331300 ur] rnnrlhphtrurtrhph r.r1 uthhuurunluruhp trcuz nniur.[ 177800 t77.8
3431i140 zurndh>hbnh rlLuuhn FCUZ nnruL[ 112500 I tz.c
3431 1 160 2undh)h h htr mnr-uhrurbruihh dnr,fhn trcuz lnuituqu 1 500 1.5

3431 1 190 ilirguafrphhp FCUZ nnurtl 4s00

3432i 130 rupqblu\drub uuppbp. trCUZ huru 2500 I 2.5

3432rr30t1 urpqhlu!iluh uurnptn arnr r trLu4 hrurn 15000 I 15.0

34321 100 unhfrtrhp r\rtr r trLUA hurut 3s000 I 35.0

3432 121 unl urnrlhphfu utr b nh tnq h q urh>Lb n rlnr r trLu4 hr.ur.n , '6500 I 6.5

200 ur r.l nndhphhru th u tr h rlti b n UU htur.n 52000 ^ 208.0

3912 520 qnuuurhrunurh trCUZ nnluil 7s000 2 150.0

391 I 190 nurqhruBnnhtn uu hruur 50000 2 100.0

3915 220 ;ruhnuph rftuuhn NNTT'rLSA nnruil 213440 I 213.44

3922 480 q nrqurpruhh lunq uhrub hhn FCUZ huln 900 2 i.8
39224330 4nllthn trCUZ hurur 550 A 2.2

39721500 h hh lnnruh urh rnruptuqnrqhl FCUZ hurur 19800 I 19.8

3981 1 100 o4|r purpilruqnlqh) trcuz hunn 400 6 2,4

39812600 drupnnn rfi,ubnrbhhn tr rhnrhtrhn FNUZ huln 300 60 18.0

39831 24s odr.un, hhnnr-L trCUZ hrur.n 400 40 16.0

3983 1 24 1 odun dhnph Fquz hrurn 200 88 t7.6
39831246 htlnrh rihuqnn rlhqnq FCU2. ttr*tt 400 35 14.0



39831242 {rubpfr r}rn2f FCUZ hq 900 10 qn
39831 100 r.lurqnn htnr-Bhn FCUZ huln 300 18

3983 281 un{ur\h riruppilurL 1 urp trCUZ hruu 100 50 5.0
3983 383 hurur\fr tr]uqilurh tuB FCUZ hrurn s00 36 18.0

3983 270 urqnrhq FCUZ hurn 200 30 6.0
3983 247 urhururhruhnq hhn nth uurhhruhqnrrqh hunlun FCUZ hrurn 1000 A 6.0
39836000 rur]t1 unrlnpru!urh FCUZ hurur 1000 20 20.0
39835000 hrurnru\ ilr,u pphlnr d,n4 FCUZ huur 1000 2 2.0
39832900 qnqurpf ru! hr.uurunrult trcut htutn 500 5 2.5

42121190 gpir qnrlqhp FCUZ hruur 41000 2 82.0
42r2tr90/1 gplr qnilulhp uu huru 26500 I 26.5

4411].200 qbilhhrn nnir) hq 58 4000 232.0
44111413 lnulruhbpLl NNII 

'rLu4 hunn 1400 5 7.0
441tl414

1 ru urhpurul|rh trhnh hn UU thrnn 767 34.5
44163170 nhrnhl-rh tunnnrlurh trcu2 rlburn 3s0 20 7.0
44141110 lunnnrluLLhn ult nntuil 29700 1 29.7

441411,r0/1 lunnnrlrubhhn uu riturn 300 290 87.0
44141110/2 funtnilru\Lhp UU r[hurn 200 540 108.0
44r411t0t3 lunnnrluhtrhn uu ritinn 140 810 113.4
44r4rIt0/4 lunnnrlurLtrhn UU ribnn 166 I 100 182.5

44163290 funqnqur\ hhp h q tupuqr.ubbp trCiI2 nnunl 186870 I r86.87
44163200 fu nanr.l\hbph rihruqiluh ilruuhn trcuz hrn r300 2 2.6
4422 000 :'] rur.nnlhul.rhtn, nnhtn h hunruh hq runurunnruhp trcu2 nnud 19180 I 19.18
4431 170 bnru\qiluL qupuqruLhp trCUZ r.nnuh 10000 2 20.0
4433 300 rltnr.urlurlruptp trcuz .tg 600 3.0
4441 000 urq nurliphh n t nn ruuhLr ruh h h tunhultrnqh hudrun trcuz 4nluil 64000 64,0
4441 100 bnpru\trhp FCUz nnruil 3BBOO I 38.8
4441 110 gplr bnpru!, rhrull urtr trcuz nnruil 58550 I 58.55
4441 300 lr]ruqurnurh trfuz hrur.n r8000 6 108.0
4441 740 qnrguinurhurLnhp r\NT T 

'rLu4 hruu 35000 o 210.0
4441 750 uurhhruhqnrlqh pruphn UU hluur 3500 2 7.0
4451 i00 dhnpfL qnnbhphhn trcue nnurd 100000 100.0
4452 100 q urhruq ruh bnn r"u hphbn lr rhrub urbtrhn trcuz npulri 50000 50.0
4453 000 rurlpruchn4 lhutut hhn, FCUZ nnLuri I 8000 18,0

4451 400 qnnbhphhnh r.iurutp trCUZ nnuril 5350 5.35
4451 260 hr1!upnr-4p trcuz hurr.n 150 10 1.5

4462 100 nr.unhulnnntrhr FCUZ hruur r 4000 20 280.0
4462 130 ! hhurpnlluor]ur.b ghnntorftuh nur4|rururnntrtnh rluuhn trquz nnuil 97000 97.0
4483 500 Lnrbh:LbI FCIIZ qpruri 10000 10.0

4483 300 hhplbnhbLtl r]CUZ huu 2500 6 15.0
4492 s00 bhrlrLuilrubhb qhu urut hb UU bq 200 20 4.0

4492r500tr b hrlruriurbhL qhq uurthh trnuz \q 92 50 4.6

Churihtrn ulrtnurhB 11377.53

0umulnr-p1nr-trhhp

48221000
hulftugurhgru3f tr i-i hbppfrh brunu3nqru\utr guhghpfr
huliruL runqlrurhh bnuqnrulhL rhurBbB

trcuz rlprurl 165000 I 16s.0

48443000 hiu 2t{ruqurhru\urL hurtr.u\upq2ulfrh Epuqf rulbtl
fruphB

trCUZ r1lruil 208000 I 208.0

4BB1 1000 urbn hh uurd ruh urtr hullurL runqhn trcuz nnurd 96600 I 96.6

s0313100
qurr.ndthruhruhnrl urupptpfr rltpr.utrnpnqrfiub i-r

ui urhq uhilurh bunrulnrralnrhhhn
trCUZ rlpurd 200000 I 200.0

50531 140 thnndruphhnrBt uh burnrurnr-tarnrh UU nnLuil 45600 1 45.6

60141400 n> L urhnhu tl np nr-q hnpur&niuurnnriruh burnut ntplnrh UU nnuril 3s0000 1 350.0

641 1 1000 rhnu unut hb b urnru t ntBt nlhhtn FCUZ nnurl 150000 I 150.0

64211100 hrul-rnrurhh hhnulunuurhL bunu rnLunr-trLbn trtuz nnrud 270s000 I 2705.0

65111100 iudhrnl qnh nlurtunlil trcuz nnruil r2s0000 I 1250.0



6521 1 100 quqh Pruttunr-rl treuz nnuri s7s0000 I 5750.0

6531 1 100 h tL urnurL ruhnr-Br uh rurrtunr-rf r\rrT T trLUA nnruil 7100000 II 7100.0

6651 1 i80 2rupdfr2hhpnrl rlrnluru4purilh2ngbhpb
ruru urhnr.lruqnrJurh burnrurnrntnrh

FCUZ rlpuli 32000 2 64.0

66s11180/1 2iupdfr2trhpnr{ r!n}uulpruilh2nghhpfr
ulu urhnrhuqnrlurtr burnurtnrptnrh

NNTI 
'rLu4 4purLt 40000 I 40.0

6651 I 180/2 2updfrltrhpn.l trl"*+n*rifr2n gbhptr

uru urhnil urqntlurh brunlurntplnth
NNII 

' qlnuli 37s00 2 75.0

77631200 unlnnilhphtruLhpfr ubluhfru\urlruh utnnrqrftul:
burnurrnlntnrb

NNII' rlpurf 1s300 5 76.5

7525i000 hurL ruhnnhhr.ut htr u r.uturq rubnrFl uh burnrulnlplnlb FCUZ nnrurl s0000 I 50.0

76131 i00 qiuquuulurnilurh huliu\u.rpqfr ntfutrfr\ur\utt
uru ururunb rlurh b urnurt ntrol nr-h

r\r1l T trLUA qpruil 48740 AT 194.96

79r4rr00 frpullur\ruh lunphprlurullur\urh h urhqh\unn{u\ult
burnurrnr-prnr-hLhn

UU rlpulf 35000 I 3s.0

79631200 ur2|uururur\|r gtthntt rlhpruqruurpuruurdurh
burnurtntBtnrtr

trcuz qFruil 318000 1 318.0

7981 1000 r,n r.u tuqnru L tuh burnu tnr-rat n rl.t r.L- LAA nnurl 460000 460.0

79Bl 1000/1 tntu ugnub ruh burnrulnlralntlr UU nnurd 100000 100.0

90421 100 b hn unuqnhnh riupnr.huh br.unrulnr-Blnlh FCUz nnur[ 2s0000 250.0

90512000 unnh rhnlurunnilruh burnrutnr-Brnth FCUe 4nruil 48940 12 587.28

90671 100 urluuluhurhriurh h rf ur\urpnr.1 btrhplr n2tr2ugrlurh

brunrutnr-ntnrh
I- t_ LAl" rlpruli 8000 I2 96.0

981 1 1 140 hbnhtrurh rurhh huh nn nrBtrub burnrulntpqntLhtp UU nnruri s0000 s0,0

Cbnu{bbn twnwptppilt 204/6.94

CI4w{bbp 31794.47

S frtrtuhuurmh urhurulltub h qhnr-rftrhpfr pudhf .l* nfr:. U.Zurpnr-p3nrhSrutr


